Math 153 - Quiz 11 Name __key

May 4, 2017 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (10 points) A new process has been developed to produce synthetic diamonds. Six
synthetic diamonds are randomly selected from a large batch that were produced by

the new process. Their weights, in karats, are given below.
L0.61. 0.52, 048, 0.57, 0.54, 0.46

(a) Find a 95% confidence interval estimate for the mean weight of diamonds produced

by the new process.

(0.47138, 0.588¢3 )
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(b) The developers of the process claim that it produces diamonds that weigh more

than 0.5 karats, on average. You wish to test the developer’s claim. What are

vour null'and alterntive hypotheses?
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(c) Test the developer's claim in part (b) at the level @ = 0.05. Find the P-value and
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state your conclusio:

T-Test
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(d) How does your confidence interval in part (b) support your conclusion in part (c)?
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(e) What important assnmptions did you make in solving the problems above?
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